Das Einsdurcheins mit 2 GUben [1]

Zum kleinen Einmaleins

Aufgabe 1

1. 4 :2= () 2 O 3 o1 () 5
2 10:2= (O * (O 2 () 10 () 5
3. 04 2= (O 2 o 5 o9 ) 8
414 2= O F O w0 O 8 () 6
56 2= () 1 O 4 O 6 () 3
6 16 :2= () 10 () 4 ) F () 8
710 :2= (O 1 O 9110 3 ||0O 5
Aufgabe 2

. 10:2= O 6 (O 5 O 4 (O 10
2 14 .2-=- O & O F O 3 (O 4
3. 16 :2= () 8 ) 4 o7 6
412 12 = () 4 S o9 6
5 16 :2= () 6 4 ) 8 9
6. 12 12 = () 1 4 6 9
7010 2= () 9 DR S S
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Das Einsdurcheins mit 2 iben [1] | ANTWORTEN

Zum kleinen Einmaleins

Autgabe 1

1. 4;2=‘I]O3 O O3
2 1:2- O F 0O 2 (O 10 @
3 42=E{:}5 O 9 O 8
i 142-l@ 7] O O B8 O 6
5 6 2= () 1 O 4 )6 ® 3
6 16:2= () 10 O 4 O 7 |@ 8
o102 = O 1 o 9?2 O 3 |@ 5

Aufgabe 2

. 10:2= O 6 |@ 5| O 4 (O 10
2. 14 :2= () 8 ® 7/ o 3 O 4
3. 16:2= 4 o7 6
4012 12 = () 4 o o9
50 16 :2= () 6 O 4 ® 3 o9
6. 12 :2 = (O 1 O 4 ® ¢ o9
2= O 9 (@ 5|01 O 7
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